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Tpexxoaosku
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H.Pe3BoB, 1979(pepakuuna C.TKauyeHKo)
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H,Pe3BoB, B,banaHosckuit, 1987
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KoonepaTtuBHble maTbl
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.Tominic, 1976

1.B:c1 S:b6 2.54:b6 R:c5#
1.Q:d5 R:c5 2.S:c5 R:c3#
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C.Jones, 2000
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C.Jones, 1990
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MHoroxoaosku
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O6paTtHble maTbl
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—2.Qd5 cd5 3.Sb5 Ke6 4.5d4 ------------- 1
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Problems Difficulty (20 Solvers)

ID|Tag|Difficulty [Average|5(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
71 + 890| 0.55 1 4 15 0
14| #4 7801 1.10 2 4 14 0
18| S#4 730] 1.35 4 2 14 0
+ 720 1.40 0 9 11 0
#2 700 1.50 6 0 14 0
8| + 690 1.55 4 5 11 0
12 |H#4 650] 1.75 7 0 13 0
15| #5 6501 1.75 7 0 13 0
6| #3 600 2.00 8 0 12 0
11|H#3 600| 2.00 5 6 9 0
51#3 5841 2.08 4 7 9 0
17| S#3 516 2.42 7 6 7 0
31#2 500 2.50 10 0 10 0
13| #4 410 2.95 10 3 7 0
1| #2 400 3.00 12 0 8 0
4| #3 230| 3.85 14 3 3 0
10|H#2 164 4.18 16 1 3 0
16| S#2 160] 4.20 14 4 2 0
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